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6 1006% | HE R4 SY500 & 1 | —RA %N
7 1007# | e 24 SY500 & 1 |8 =& %0
8 10084  |eEARAH SY500 & 1 |8 —&¥—%W
9 10004 [ FE A2 SY500 & 1 T — &I
10 10108 | e AR SY500 & 1| — R
11 10118 |EEARAE $Y500 & 1 |8 — R —EH
12 10128  |ESfRHH $Y500 & 1|8 —gs—%n
13 10134 | HLARAH SY500 & 1 |# =Ry %
14 10144 |EBfRE 5Y500 & 1|8 —&KF—%EH
15 10154 | e pRAH SY500 & 1 | —RF—%0
16 10168 |FARHH $Y500 & 1|8\ —R¥ %8
17 10174 |E=AEH $Y500 & 1|8 — R —FN
18 10184 |FEARHH $Y500 & 1 |8\ — &5 %
19 1019¢  |ESARHH $Y500 & L | —FR5 2w
20 1020%  |ESfEH SY500 & 1 B —#3—%R
2 10214 | EE AR SY500 =) 1| —RE—%EN
22 10228 | fEAH SY500 & 1 | —RA %N
23 10232 | ARl SY500 & 1 | —RA—%nw
24 10244 |5 R4 SY500 & 1 W —R¥—%nR
25 10258 |FAAEHH SY500 & 1 BT —RA— 2R
26 10264 |Ea R SY500 & 1 |8 —&F—%R
27 1027# | ARAH SY500 & 1 |8 —&5—%E
28 10284 |HLARAH SY500 & 1 || — R~ %)
29 10298 | B fRAH SY500 & 1|8 —#5 %0
30 1030% | S ARAM $Y500 =3 1 |®|—FR3—%0n
31 10314 |Ea B4 SY500 & 1|87 — &5 %
32 10324 |EfRiE $Y500 & 1 |\ —R5—%A
33 10334 | HE ARAN SY500 & 1 | —R5 %R
34 10348  |eg Rl SY500 & 1 |8 —RF—%m
35 10358 | ARAH SY500 & L |#T AR %@\
36 1036% | E3 A4l SY500 = 1 | —RA—%R
37 10372 |EEAR4H SY500 = 1|8 —RA—EH
38 10384 | e fRAH 5Y500 & 1|8 —F5 %
39 1039% | HLARIY SY500 & 1|8 &5 — %
40 10404 |EBARHS SY500 =1 L |8 —&RF—%EH
41 1041%  |EEARHE 5Y500 & 1 B —FF—%n
42 10428 |[EEARAH SY500 & 1 |87 — &5 %
43 10434 | L ARAN SY500 & 1 BT —RF—%N
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46 10464 | BB fRAN SY500 & 1 | — R %
47 1047¢  [EEARAE SY500 & 1 W — BRI —
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59 10594 | ERARAH SY500 & 1 BT —RH— 6
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68 1068% | E /R4l SY500 & L BRI %N
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79 10794 | EELARAE SY500 & 1 [8B —FF—%M
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83 1083% | e AR SY500 & 1 |8 —&¥—%0n
84 1084%# |EB AR A SY500 & L |®BI—&F—%07
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87 10874 | ERARAH SY500 =) 1 |8 —R¥—EN
88 1088 |ERfRAH SY500 & 1|8 — R4\
89 10898 | EEARAN 5Y500 & 1 [ —F#5—%m
90 1090 | EB RN SY500 =) 1 |8 —FI—%MH
91 1091# |E5fRdl SY500 = 1|8 —RF—%m
92 1092# | BB RN SY500 & 1 BT —F =%
93 1003% | EARAN SY500 =) 1 BRI —%6
94 10948 | FRARIN SY500 & 1 BT =R
95 1095# | EB A SY500 & 1 |8 —R¥ %
096 10964 | AR SY500 & 1| R
97 1007# | BB R SY500 & 1|8 & —%EM
98 1098# | EfRAH SY500 & 1B —RH—%ENR
99 1099% |EafRRY SY500 & L |\ —&RF—%m
100 | 11008 |eEfEiE SY500 & 1B —F5—%m
101 1101% | eBARAH SY500 =) L | &F %W
102 | 1102¢ |EHfRH SY500 & LB —FF—%Fm
103 | 1103# |efE4 $Y500 £ 1|8 —R5—%R
104 | 1104 |EBfRAM SY500 & 1 BT —RF— %00
105 1105% | L fR4H SY500 & L B — &5 %
106 1106# | B 24 SY500 = 1 |8\ —FH—%ER
107 11074 | E2AR4Y SY500 & 1 |8 —FR5—%E(m
108 | 11088 |EafRil SY500 & 1 BT 5%
109 11094 |EEARHE SY500 & 1 |#BT— R %
110 11108 | EEARAH SY500 & L |8 —F5 %
111 11118 | EEfRAY SY500 & 1 i — R A — %0
112 11128  [eBfEH SY500 & 1B —&R3—%Eq
113 1113%  |EEAR4H SY500 & 1 I — R — %10
114 11148 | ARAY 5Y500 & 1|8\ —F5l—-FW
115 1115¢ |65 R4 SY500 & 1|8 —&F—%EN
116 | 11168 |l SY500 & 1 [ —&F—%m
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123 | 11238 |eBARAN SY500 & || — A5 — 0
124 | 1124¢ |ERARAH SY500 & 18— R 5~
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126 11264 | ELAEHE SY500 & 1B &5 %
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133 | 1133%  |EafRil SY500 & 1 | —RF—%H
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135 11358  |EafRil SY500 & 1 |8 —F5 %R
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165 11654 |E5fRfY 5Y500 & 1 |8 —#F—%EN
166 | 11668 |enf@il SY500 & 1 | —FA—%m
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182 | 20142 |EafRiH SY500 & 1|8 —R5 =%
183 | 20158 |Eaf@4H SY500 & 1 BT —FFI=%Rm
184 | 20168 |FafEMH SY500 & 1 |8 —F5 =%
185 | 2017 |ESfRHE SY500 & 1 |8 —25—%m
186 | 2018# |EEfEHH SY500 = [
187 | 2019% |FEARH SY500 & 1|8 — R =%
188 | 20208 |eHfRH SY500 & 1 B —AF =%
189 | 20212 |eRpRMl SY500 £ 1|8 — RS =
190 | 20228 [empEA SY500 & 1 B —E&5=%m
191 | 2023% [eRfRAH SY500 & L B R =Em
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195 | 2027# |eBARAN $Y500 & e ¥
196 | 2028% |eBf@il $Y500 & O L o ey
197 | 20204 |ehfRiE $Y500 & R ¥
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199 20314 |EEfRAH SY500 & 1 TR 5 i
200 20324 |EfEAE SY500 & 1 B R AN
201 2033% | AR SY500 & 1 BR8] %W
202 | 2034# |EfRAE $Y500 & I Y
203 | 20354 | SY500 & L8RS
204 | 2036% |HLARHE SY500 & 1 %nr ﬁ&l - 4. ]
205 2037¢# |ER AR SY500 = 1 B %)
206 | 2038% |HIfEIH SY500 & 1 's‘ﬁl e f: 3| =% [a]
207 | 2039% |eRfRiM $Y500 & 1B =R %R
208 20408 | ELARAY SY500 & 1 B —RFI=%0R
209 | 2041% [EARAN $Y500 £ 1|8 —R5 - 4%0m
210 | 20428 |EEfRAH $Y500 & 1 | —F5_=%n
211 | 20438 |ERERIH SY500 & 1B —FF=%m
212 | 20447 |EBERAN SY500 ) 1 B —RH %R
213 | 2045% |efBiH SY500 2 L B — R
214 | 20468 |EEARAE SY500 =) 1 BRI =%
215 | 2047# |E3fRAN SY500 & 1|8 RS =%
216 | 20488 |eEARAN SY500 = O Ty )
217 | 2049% |RABHE $Y500 & 1|8 =R =%
218 | 2050% |E3fRAH SY500 & I T 3 et ]
219 20514% |E R SY500 & O =) Mt o B =y
220 | 20524 |HRARAE 5Y500 & L |\ RN
221 2053% |4l SY500 & 1 |8 —R&H R
222 | 2054 | eBARAH SY500 & | | —ER %N
223 | 2055% |EARAN SY500 & 1 J—RF W
224 | 20664 |EBfRiM SY500 £ 1 |BIr—&¥=%n
225 | 2057 |EBFRAH $Y500 & 1 |\ —RF %R
226 | 2058 |FERIH SY500 & I T I |
227 20504 | EE AR SY500 £ 1 |8 —R¥|EN
228 | 2060% |EARH SY500 & 1 |8B Ry N
229 20618 |EEFRAH SY500 & 1 (B — &5 "—*Fi‘fll
230 | 2062% |ELARAH SY500 & 1B —RAI N
231 20638 S5 fRAH SY500 & 1 |- ffu*iisﬂ
232 | 20648 |EAfRAH SY500 & 1 |- RI=%m
233 | 20654 |FEfEAN $Y500 & 1 BT —RH %N
234 | 2066% |EEAEAN SY500 f 1 | —RI=%EN
235 | 2067# |ELARAM $Y500 & 1| — R =400
236 | 2068% |E3fEil $Y500 & O ST < e S|
237 | 2069% |ELfEAY $Y500 = 1B —RAI =%
238 20708 | BSR4 SY500 = 1 B — RY| R
239 | 2071% |ERfEAH 5Y500 & 1 |®BIT—F¥ %n
240 | 20728 |eRfEAS SY500 5 1 |8 —RF %A
241 | 20738 |efRAE SY500 & O =T I - A |
242 | 20748 |eBfRAH SY500 = 1 BT —RA=%R
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245 | 2077# | EEARAY $Y500 & || RA %R
246 | 2078# |FBARAM SY500 & 1 =RV =400
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249 20814 |EfRAY SY578 a [ K Iy -1 o ]
250 | 20B2# |ERAEAM SY500 & || —FF %N
261 2083% |EBERIH SY500 £ 1 W — R I %)
252 | 2084# |EifBAH SY500 & T Vi SEa
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254 | 20868 |ESfEAH $Y500 & 1 |8 —& ‘rJ:'""
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260 20924 |EBARIE SY500 & 1 | —RF =%
261 2093% |HLARES SY500 = 1 T —RFI %[
262 20944 | FEAEAY SY500 & 1 |8 —RF—En
263 | 20958 |ELfR4N SY500 & L |8 — Ry %
264 20964 |EEfRAH SY500 & 1 | —RFI %N
265 | 20074 | fE $Y500 & 1 | —RFI =
266 2098% | EEARAH SY500 & 1 |8 —RF %N
267 | 2099 |EBfRAN SY500 & L | —&FI=%N
268 | 21008 |ELfRAM SY500 & 1| R
269 20018 |EBEREE $Y500 =) 1 |8 —&RFI=%n
270 | 21028 |E3fRAY SY500 & 1 BT —RFI= %N
271 | 2103% |EfEHE SY500 & 1|8 A5 %
279 | 21048 |ESfEHY SY500 =3 1 B —RA W
973 | 21058 | EREAN SY500 & 1|8 —R¥ %R
274 | 21068 e fEH SY500 & 1 BT —RAI=%m
275 | 21078 |ERpEAN SY500 & 1|8 —R¥I=ER
276 | 2108% |ELAEAY SY500 = 1 |8 —R5 =%
o 21094 |FRfEHE SY500 & 1 BRI _%EH
278 | 21108 |HIAEAHE SY500 & 1B —F5=%m
279 21118 |FEfEH SY500 =1 1 |8 —RHAZ%ER
280 21124 | 5Y500 & 1 |#B]—F# %N
281 21134  |FBARHY $Y500 & 1 BT —FRFI=%R
282 | 21148 |eBAEME $Y500 & 1 BT —FHZ%ER
283 | 21158 |HfEIE SY500 & 1 |\ —RFI =N
284 | 21168 |ESfEM SY500 & 1 BT —&¥I=%m
285 | 21178 |EfENE 5Y500 & 1 |8 —FF =N
286 | 21188 e SY500 & 1L B —FF =%
287 | 21198 |HfRH 5Y500 & 1 B —&F =%
288 | 21208 |EEpEAN $Y500 & | B — R =%m
289 21218 |EEARAY SY500 & 1 |8 —RA M
290 21224 | ARAE $Y500 & O K I =Y et =t |
291 2123¢ | AR SY500 & 1 |\ —FRA=%m
292 21248 | ARAH SY500 & 1 B —RI %
293 21258 |ERARHH SY500 & 1 BT — R %
294 | 21264 |HERAE $Y500 & (e S Bt |
205 | 2127% |EHfRAY SY500 =) O VI e = o
296 2128% | EEARAY SY500 & 1 |8 —RF =
297 | 21298 |HOAEME SY500 2] 1|8 R %
298 21308 | FRAEHE $Y500 =) 1 |8 —RI_-%ER
299 21314  |HAEMN SY500 & 1 |BI—RII_EH
300 | 2132¢ |ELpERAH SY500 & 1L |BT—FF=%m
301 21334 |FEAEME SY500 & 1 |8 — &5 =%
302 2134%  |ELfRAE SY500 & 1 |8 — &3 =%
303 | 21358 |efRH SY500 £ 1 || — &A%
304 21368  |FEARAE $Y500 £ 1 |8 — A5 =%
305 | 2137# |eEARAY $Y500 5 1 B — &A%
306 21384 | FE fRAY SY500 & 1 B — A5 %N
307 21394 | FEARAS $Y500 = L || Ry =%
308 21408 |EHARIY SY500 & 1 |\ —FF =%
309 | 2141%  |HAEHS SY500 & 1 | —RF %R
310 21428 |ERAEAE 5Y500 & 1 |8 —RH %R
311 2143¢ | FARHH SY500 5 | | —FF %R
312 | 21448 |eREAY $Y500 & 1 BT RSN
313 21458 | EEARAN SY500 = 1 |8 —RFI=EE
314 | 2146¢ |HBfEHE $Y500 & 1 | —&F = %n
315 2147¢ | ERAEAE 5Y500 & 1 |8 — &5 %
316 | 21488 |HLAEM $Y500 & 1| =R %R
317 | 21498 |EnfRl 5Y500 & 1|8 Rk
318 21508 | fEAH SY500 & 1 |8 —RFI =%
319 21518 |FEfRAl SY500 & 1 BRI =%m
320 | 21528 |ELpEAl SY500 & 1|8 — &5 %
321 21534 |EB AR SY500 & 1 B —FF 4
322 | 21548 |EBARAY SY500 =) 1B —FF = %8
323 21554 |FRARAY $Y500 & 1 || —F5 =%
324 21564 |EEARAH SY500 & 1 BRI =%




325 2157# |EafRAY SY500 & 1 |88 —RF %

326 | 2158% | fRHE SY500 & 18— A5 %R

327 | 21598 | EEfRH SY500 & O T I |

328 | 21608 |HfRME SY500 & 1|8 — &) %)

329 | 21618 |EEARAN SY500 & 1 | —FF %

330 | 21628 |ERAEM SY500 =) LB —F¥ =%

331 2163 | FLARIE SY500 A 1L || —F5=%m

332 | 2164k |ERfEME 5Y500 & LB —F5=%m

333 | 21658 |efEiE SY500 & 1| — &5

334 2166% |8 fRAN SY500 & 1 |®T—RH=%m

335 | 2167# |EHAEAN SY500 a 1 B — RV

336 2168k | ERARAH SY500 & 1 BRI ZER

337 B HERURLL DQ1500/1500. 35 1% 2 |

338 B EE AR JG-1250 % 6 |#1u#2H6. 3%

339 B EEEKE JG-1250-1; J6-1300-2; JG-900-3 ES 6 |#ln2BLER

340 BEFES GR&, HE. L) |LCe00/80011 11 fid 2 |

341 B IKE 700525 i 4 |TEHKER

342 L8R E 4:3000T/H 1 10 |HLAERER

343 HHLEATE. BEhR IR EHL|80/20T-30. 5M % 2 |aisoHlaog

344 RIS CPz61Y-P5417. 6V 15 2 |#isessHL B

345 LS R RCS-985 S 3 |12 eRkFLRT 4

346 AZIRA% B HL YR (UPS) SDP31080-380/220/220-ARS % 2 |6. 3% HLGAD AL A)

347 AR R R TMY-3 (120X8) /48 ' 2 |6 3k O SR

348 R B AL SMFI-03 1% 2 |mim2dtrioK

349 THVAEEKH LIRS NUC 24W o 2 |#iE2FHLER

350 Hiph kA R 5 500m3 ' 1 |z

351 ECMSHL S IS HEB R CSPA—2000 i 1|12, ek RTINS

352 FREESE SCB10-2500/6 & 34 |380VEPCEICHIE

353 P R A AR I 88 ¥4 SR | SFF11-50000/20 & 2 |FHERH

354 220KVE [ E3F 858 % KM |SFF11-420000/220 ) 2 |FHER

355 5 R JS Bh/ 4% FHAE JE 22 W46 SR W [SFF11-50000/220 =) 1 F IR 35 A

356 ki = 88 CJ250CED £ 4 |mla2pl gk

357 HEIKEE 1500m3 & 12 kR

358 A% XNFLS-1. 4/380-720 4 12 |#1aosinioKk

359 KA E R Q=60m3/h H=25m £ 2 |k
HUAR7E #vin i 18

360 SrIEn R (DCS) 04000 % 2 |&@, BEafElE
TR Ufids

361 6kvFKAE KYN44-12 & 144 |6KVI, TIRtE%E

362 JHE A EE-AE SRR [TA2/Q2358 Wi {374, 716| 40 I N

363 BIEERE PTM S 2

364 ZINERE PTM = 2

365 BIEE LK=30. 5 3 8

366 BEAT 165%170+2578mm I 1552. 159

367 BMA RS ZHSFPTB = 3

368 FHARERIT 2G230-450 filg 3180

369 PRARSNT 76230-450 i 372.2

370 SRR AL QWL22-140 £ 180

371 R, BIERERTESH|MA. MEREC e i 1663. 16

372 AT . RERERTES A, MK, THRg o Rk M |4884.91

373 LR SRIRHRRTHT R SAT [t g Al WIRE. VAR, BSH. B LG 2072.87

374 B4, BEEETHEST i 4125

375 ETARE Smei K 1183

376 XS ERAT AT AT 4 D4ENDEVAVOR =3 1

377 A UEL B=1000mm =300t L=179m 3 5

378 EWAEEE. WSEgR |——— 63 2

379 EHERE E VLRI R Z3E  |V4-73N0029D =) 9

380 HRRERE (32+32) t*30. 5m & 2

381 B RESESEEML - 5 1

382 FHETERES TJK-BD-600-1F/2 S 2

383 R A58 52 1m2\224m2 = 8

384 FEME KQP-B-300, 170L\300L & 60

385 WEEmR 2X12. 5T, 3T, 8T, 11T, 9T, 20T, & 23

386 LI B FARER, 5607 & 10

387 R 5.5T/h, 13. 5T/h & 8

388 L EIWRFAL 6T & 3

389 IR 16m3/h, 40m3/h, 2m3/h, 12m3/h & 7




390 VR R 12t/h, 4t/h 8E 2
391 FFUKE (S500-32/4, 2850m3/h, 0. 2mpa & 4
392 FHRE 400. 75t/h, 473. 41t/h & 4
393 H kIR 300544, 1075m3/h, 0. 4mpa =) 4
394 HEH 2BWA-353-0MK4, , §i3HEE92KW (8kPa) , BkPa T¥IE & 6
395 Rk % A B8 BAMEIR: S =14m2 = 4
396 B Fh ik 4% 2850t/h HF 2
397 iR 150L/min = 2
398 EAES KAESK-10, HREEAELX-T00 = 4
KCB-300, 18m3/h: 25m3/h, O.15MPa; 50m3/h
o RAR , 0, 25MPal50m3/h, O.8MPa Gl 1
400 [l R 5 3712 t/h LF 2
401 RiERAKE 65QV-SP, Q=30m3/h, H=25m =l 9
402 SABIKES 1. Om? \0. 25m® \0. Im’ 5% )
403 HAEENARERRE B=1400mm, V=2.5m/s, Q=1500t/h 88 2
404 RS A RN B B in#aE B [BK6008 HY, Q=16Nm’/min, P=68KPa = 3
405 2% LB AR A5 (EhE ) |L250-8W BY, Q=42m’ /min, P=0.8MPa = 6
406 BT R 5 4hFE 890t /h 8F 2
407 thEnziE Q =45L/h 8E 2
408 FUKIUEERE 2700 % 1600 X 65014200 X 2080 X 1100 & 2
409 ERA KA E R R R & 2
410 220KVEZF E8E & 2
411 220KVAE I B HE SF6 I B 2% & 8
412 6KV XiE& = 100
413 N RS R AL P90OE, 630K & 2
414 RS-SRS ETEES I 11328.92
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LR 40%460mmZE 220%660mm i} 8506. 77 |FFIBEELE LA
R 40%460mmZE 220X 660mm 20582. 44 |FIBE LS &)
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